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QUESTION 1

Identify two solutions that Oracle provides for patch conflict.
A. merge patch

B. combine patch

C. overlay patch

D. dual patch

E. super patch

Correct Answer: AC

QUESTION 2

Which three statements about Automatic Database Diagnostic Monitor (ADDM) are true?
A. It requires the database to be open.

B. It analyzes the performance of specified objects.

C. It implements all recommendations automatically.

D. It recommends solutions and quantifies expected benefits.

E. It retains snapshots in the SYSAUX tablespace until the database is restarted.

F. It analyzes the snapshots stored in the Automatic Workload Repository (AWR).
Correct Answer: BDF

Reference: http://docs.oracle.com/cd/B19306_01/server.102/b14211/diagnsis.htm

QUESTION 3

Which statement is true about loading data by using the conventional path of SQL*Loader?
A. Redo is not generated while performing conventional path loads.

B. Only PRIMARY KEY, UNIQUE KEY, and NOT NULL constraints are checked,

C. No exclusive locks are acquired when the conventional path loads are performed.

D. Instead of performing transactions, SQL*Loader directly writes data blocks to the data files.

E. INSERT triggers are disabled before the conventional path load and re-enabled at the end of the load.
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Correct Answer: B

Reference: http://docs.oracle.com/cd/A57673_01/DOC/server/doc/SUT73/ch8.htm#data %20paths (see direct loads,
integrity constraints, and triggers)

QUESTION 4

Which targets can be managed by using Enterprise Manager Cloud Control?

A. Hosts and databases

B. Hosts, databases, and application servers

C. Application servers and web applications

D. Databases, Oracle Management Server (OMS), and Oracle Management Repository (OMR)
E. Databases, application servers, and web applications

F. Hosts, databases, application servers, web applications, OMS, and OMR

Correct Answer: A

Reference: http://www.oracle.com/technetwork/oem/framework-infra/wp-em12c-security-best- practicesv21493383.pdf
(page 3, second bulleted point, last couple of sentences)

QUESTION 5

Which three statements about common and local roles are true?

A. When a role is granted to a user, the privileges in the role are limited to the context of the PDB.

B. Local roles can be granted only to local users.

C. Common roles can be granted to both local and common users.

D. A user can create common roles if the user has the CREATE ROLE privilege, and SET CONTAINER for all PDBs
E. Common roles can be created in the root and PDBs.

Correct Answer: ACD
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